415.30 mm

[16.350 in]
o &F 2 ()
jum] [=m)
173.13 mm
[6.816 in]
] [=n|
o SRk i (@)
SECTION A-A
421.65 mm
[16.600 in] @4.32 mm
L 7.94mm B \ [@0.170 in]
[0.312 in] 7
| ,P ® " ® @w\b,
—t1 OOOOOOOOOOOOOOOOOOODUOOOOOOOOOOOOOOOOOOOOOO
‘\\ﬁMOOOOOOOOOOOOOOOOOOOO 0000000000000 0000000000 4
000000000000 00000000O00OPOOO0O0O000O0000000000000000
% ooooooooooooooooooooooomoooooooooooooooooooooooo 55.56 mm
waww_ﬂ__ﬂ 000000000000000000000000000000000006000000060000 [2.187 in]
: memmmmmmmmmmmmmmmmmmmmwmwwwWWMWWWMWMNMWWNMWWNMWMT
E S - 203.20 mm
A | 373.06 mm A [8.000 in]
! [14.687 in] 121.87 mm
.798 in
7 [4.798 in]
|
[ ® ! ®
[ |
B~
482.61 mm
[19.000 in]
R3.18 mm
ASSEMBLY - VIEW FROM TOP [R0.125 in]
\Amvw
HANDLE
L L«——MOUNTING
™ HOLES
165.10 mm
[6.500 in]
d B
4.37 mm
6.35 mm ; 466.10 mm &:TB.QN in]
[0.250 in]" [18.350 in] !

ASSEMBLY - VIEW FROM FRONT

3.18 mm
Topmm in]
t
196.85 mm
[7.750 in]
SECTION B-B
203.20 mm
[8.000 in]

177.04 mm
[6.970 in]

@
o

ASSEMBLY - VIEW FROM SIDE

00000000
0000000
0680000
00000
8000
000
00
0]

Solid models of this enclosure available in STEP or IGES.

RM4U1908VBK

Extruded Aluminum Frame - Type 6063

2 Panels - .064" Aluminum (5052-H32) Powder Coat
2 Mounting Brackets - .125" Aluminum

12 Screws - Flat Head 4-40 x 3/8"

8 Screws - Counter Sunk Head 6-32 x 3/8"

4 Screws - Counter Sunk Head 10-32 x 3/8"

12 Nuts - #4 Speed Nuts

Four Self Adhesive Rubber Feet - 1421T3

PULL HANDLES 1427P1BK

HAMMOND
MANUFACTURING -

RM4U1908VBK

www.hammondmfg.com




